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MATHEMATICAL DEPARTMENT

Math. 002 Test#2 Term(042)
Name: I.D# Sec.#
SHOW ALL YOUR WORK
Q1. Find the center, vertices, foci, eccentricity and asymptotes for the hyperbola (Y
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Y ~ [14x*=3xy -2y * =56
Q2.If (a,b) and (c,d) are a solution of the system of equations ,
2x2—5xy +2y* =56

then find a+b +c¢ +d
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Q4 Find the values of a if the system of the equations{ X + Yy =1, 7z
2x +y +a’z =2a
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® Q5. Find the standard form of the equation of the ellipse with foci at (—4,-2) and (0,-2)
And passes through the point P(—2 0)
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Q7. Solve the system of the equations < 2x +3y +5z =-13 Lo
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